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VI Semester B. Com 3 Degree Exammatlon, September 2020
. GOODS AND SERVICE TAX ,

(Regular / Repeaters)
o Paper II

.- Time : 3 Hours S o g ' Makimnm’-Mﬁrks : 80
Instructions to Candtdates R . o IR
1) Answef all the sectlons accordmg to mternal choice.
R , B0 Degerinvt evgond.
2) Questlon No. 11 in Sec.'D' is compulsory
- on - @ (0 3, 00) B>
3) '.Slmple calculators are allowed. | -
Ao o) BoodpentioDrics risodiay, eusolpensuEbe,

-SECTION-A
s B S |
Answer any ten of the followmg o ’, o o | (lﬂ.xz=20) |
dewc @3 w30, | - R

1. a) Defme.exempedf supply.
| _'omm:a S Iny a:;,as, '_oeee. |

. b) What is 'NIL' rated supply‘? Gwe an example,
nuaa} ddd a@ods aaoddem ? uoz::'c emmadeﬁ maa

c¢) What do you mean by transacuon value ?
amocs aﬁao aoddea‘o ?

[PTO.
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4

9

h)

o

What are the types of considerdtion ?

B3pocs BToH RS ? 3

. Wnte two condmons of takmg mput tax credlt 7
mdaaﬁ@ o wd 3ﬁzﬁoﬁmﬁw QR adab ﬁds::mb o:bad@ ?

Mentlon any two documents requ:red for clalmmg ITC.

'mz:bd@ 301 wadd aﬁzﬁdﬁm@m ?36%3?1)@ adm i’:‘bﬁd b‘gzﬁ) dmaiaj) ?

_What is blll of supply 7
;@ad%orb zﬁdm aodé’esfo ?

_What is'supplemén'tary tax invoice ?
o Son Wi ooddeEd 7

Mentton modes of paymcnt in GST

‘ ,oo'ﬁa ms; ﬁem 3@71050@3 DD Noz:mofo maaba a)qndﬂdab aSeOD

What is electromc cash lcdger 2 |

2, S S 2% Qyuﬁﬁe?o aocﬁdeab I

 Expand RUGST and SEZ.
0 018 SR 48, T 99 fadm‘ vy SoND.

.What i$ refund under GST ‘?
23.0%°.83. 6&053@ R nwa ebodd’eﬁo ?
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SECTION-B

: - B o
Ansﬁrer any tliree of ihe folloviring:'_ S ) ) B .(QXS=1_5)

L5 [aedd ﬁﬁeﬁ eméaka

' Dlstmgulsh between zero rated supply and exempt supply

mdra facgg:s (ale] e.;;ad@ m aawomé @radéo:b aawdﬁeéab 392D,

. Woollen House of Belagaw sold the followmg goods to Shrunvasappa of Bagalkot

'S' Sweaters at 21,300 each o
. 'S" Scarfs at Z.160 each
oy eaps of %.120 each

The sales price inclusive of- GST i.e. upto ? 1,000 at 5% (CGST at 2.5% and SGST '
2 5%) Above T.1,000 at 12% (i.e. CGST 6% and SGST 6%) - :

. 'Compute the total GST payable and cost pnce of goods.’

wrudatiab 8 et esator omaah s @Neww 8 sons *‘dsoﬂe:m_'

_ 53303&3 aba&md
' '5' fgseaao'mb essoaraods ? 1 300 do:é
' '5' 'aajrmb aod:aodé ? 160 603

‘4 eaas"mb -305:30:3% 4 120 doé

rabacm.scs '23830330 “‘dﬁ) Rezo Bort mﬁﬁmo@d ?1000 ﬁ:asdaﬂdﬂ Seﬁta'a 5 o),

(a.mwss) Besmo 2.5 Mza@n‘as mm ?IOOO aos ézswzs mee 8@3&3 12
mamas ms:z?eﬁm6daba DA .83, :

| _masamsmzs Rog) Sy Rem> Fort =) :s'cs_aa 23S domd soaome.

[PT.O.
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Suresh Traders -of V'_]ayapura purchased goods for- ? 1 20, 000 and sold goods for
.1,44,000 with in the Kamataka State GST rate on purchase is at 12% and on sales

at 18%

Compute output tax, input tax credit and balance of GST payable

| dri oor 9nE Ader ek SmaLIT W 21,20,000 2,3 Nseomm |
 Doedn e@ne;sa 2.1,44,000 3 SO SRBEY. - .8.8.00 Aobrd DD
| e Fermm 12 L) SHONT “Soee? Beto 18 Oy, ABS. ERYFE 301 BB

| Bems J0EE EU30R.

3ort wady B ANET TRV AW I Heazo IOADRY Boro2R0.

+

_ What a_re the features of payment process. in GST payable.

Kot oy Aewm> Soriosod, Romad T,00h CFERK ARTY ?

State any five features and 51tuattons in which the refund would arise ? |
mu:«-aes ﬁzﬁoﬁ:w fadod aozso ~oc$aarriwa:$a§) ?
SECTION-C '
o | ognt - @ |
Ansvtrer :mg,'r two of tlte-' followiltg: | N N o (2::15-'-"-30)

* Write Short notes on (any three)

| (a) . Abatement (b) Service aceountmg codes (c) Harmomsed system of nomenclature R

~ (d) Nil rated supply.

B ﬁ%’f\ﬁd)ﬁ’d@ tieﬁacs ﬁmdﬁ Hods wzﬁté udome

(@) N8 (b) Ao SIS Noaesmfa (c) aaasasesm "'asad" aﬂﬁ"
(d) Ros} ©oT FpgInD.




llwmmlluulm e 36632/1?320'

8.

From the followmg mformatlon of Micron Company- Bengaluru for the month of May
2018. Compute ‘ITC and amount of GST payable . :

_ 'a) Purchase 'Qf. raw.matcrials 'P' from a .supp'li_er in Bengalore ?.5,00,000 at 12%

GST.

-

b) Purchase of raw matenals 'Q from a supphcr in Chennai ?30 00,000 at 12%

10.

- GST.

* Sales o | |
~-a) Sales of 32,20, 000 Within the state at 18% GST.
b) Sales of T.22,00,000 within the state at 18% GST.

Honends ﬁa@,a‘ ﬁowa %zwob =R ﬁmdﬁn&d e 2018 amaosomocs ﬁmd:aﬁ@

- 3ot wd w3y naaﬁ,zsem BR85Sy oF 080,

330(’5)

a)  Yongeg ajac')’ p{Anlelelelat ﬁeﬁm 12 o) B.0% .88, dddQTS 00000 aﬁ% Ci P!

20 im mn@m mbemmncs

b) 233 wdémde’ocﬁ 12% - da"a: 2.0% 23 dddd;, ?3000000 ao’aod Q' Q0w
sz.aa zm::ri'.'fm DOOIRNG. : .

' ancma L
_a) Uazr.d@ Jezams 18 g 2.0% t3 chcSeD ?220000 ab‘aod mnm wacaaa'

mamﬁd

b) OomTewR 18% .o, 'csdcs‘ep_, 2.22,00,000 m‘ae%c;s SNy, Dok

 RnBEond.

%

' What do you mean by return in GST ? Explam the contents of GSTR 2.

RN &3 e&aoi)c:‘) maﬁr aocﬂdeaio ? zs as &50F-2 emmm aoﬁﬂm wWeIDAD.

Explam the procedure for claunmg reﬁmd and wnte prov;slons of GST relatmg to

‘clalm of refund. 7
BT TECITTRN BT DRV, 253080 TORB SRS BAHEO

Nowomd 23.RF 83, :acdawaﬁ#ﬁ: wdcmc
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- SECTION-D
| _ aepan - d _ o
Casc Study (Compulsory) o | _ o , (‘1>_§15"=_15)
g BB (13D BI) o -

11. '_Sellmg price of a product sold to Goa ﬁ-om a dcaler of Belagav1 is ? l 77 000
' (mcludmg 18% GST) o _ _ _ '

- , The above sellmg price is. not mcluded the followmg
“ _a) . ‘Normal Secondary Packmg COSt £.8000°
b) Durable and refundable packmg cost ? 10 000
| c) .' Frelght and msurance 25000 '
o 0 ?'_Cost of speclal packmg ? 12 OOO
- _é)‘ Welghtment charges ”\' 10{]0 .
| ‘The trade dlscount normal practlce is ? 22 000
| 'From the above lnformat:lon | |
- 'a) - Compute Transactlon value -
"b) Amount of GST payable
: c) Comment on IGST

| --__zs«:maosa om0 18% OR), 2.8, BY w.?ﬁfaodoé 1177000 oot P30
' mmm ﬁ:aem m“aoﬁ maoa&.a mamd

moo mwas 36 84 ISPV u@ﬁmo&&d&o
a) *:)aS:aﬁ AR ARAN riok® L3083 s34, X.8000
b m@é W R aoozsawnmmmas ﬁoa&) ﬁasaa)ﬁo:b 24,2 10 000

'_e) *ooﬁ' 53, 50 mesooo
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B S ﬁowﬁwaﬁo:b 3,212, 000
¢ ZmeEnas By ?1000
| asaa:me nuaea (ma Bz'a’dﬁ) ?22 OOO
e aaaaoacmocs 4_' L
a) zsmdd waom somaoaom

b) *aaﬁéwﬁamdzﬁa 63 a‘iraa’mm

9 sods‘zsa#wm&a&aaﬁr .
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Reg. No.

VI Semester B.Com.3 Degree Examination, September - 2020

MODERN AUDITING & PRACTICES
(Regular & Repeaters)

Time : 3 Hours Maximum Marks: 80
Instructions to Candidates:
| 1) Answer ALL the sections according to internal choices.
£30308 S0 2Pee), DR, LINNPT CVZOAD.
2)  Section D is compulsory.

QN 3 6@3&‘13@?\6.

SECTION-A
Rgon - &
Answer any Ten of the following: (10x2=20)
FINSJYNPE, Weworn BB JINOR HLS0R0.
1. a) What is continuous audit 7
AJejer e cﬁﬁ@ﬁmﬁé E50TI0ERD 7
b)  What are the types of the audit based on ownership ?
KROTIR SEROT Fed SHTOBREGT BIONIRY, S9RO.
¢) What is the difference between errors and frauds 7 -
2D, FF) TeBSAPNTLS FFA CIT ?
d) What is internal audit ?
30808 dﬁ&@‘b&mezﬁé e20T33e0 ?
e) What is Routine checking ?
3003 wWodewd woudesd ?
f)  What is sampling audit ?
=RTO ejcﬂ%cm eﬁfﬂﬂaﬁmeqﬁ ea03TeHd 2

[P.T.O.
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g)  Define vouching.
&, BB0ROE sonded 7
h)  What is verification of assets ?
SANY BOBOT 0T ?
i)  What is capital reserve ?
LOBY é@ e300 2
i) State' the two examples of primary voucher and collataral voucher.
FRW TeD @B) TPROT THEONYN ATE LVTBTH 90,
k)  What is contingent liability ?
H0ZFWREODN TeHRMDINTOTTems ?
1)  What is a clean audit report ?
2T, I5ToTRTI0T =TD LemETeRD 2

SECTION-B
wen - W
Answer any Three of the following: (3x5=15)

Wemrd Saedd wa?ﬁ@ﬁ gUZ0AD.
2.  What is final audit ? Explam the advantages of final audit.

030 JETBOERGS ©oTTED ? wod e?ﬁwaeifa@qﬁﬁob wo&fanﬁmﬂm WTORD.
3. Explain the duties of auditor.
J5EH0dReES §3F @, NTR) DBOR0.
4. How do you vouch the cash sales ?
S BRoLT TR0 EOR0.
5.  Explain the features of audit rcport
SETOIRS WODOD VLMY DTORD.
6. How do you.verify the sundry creditors ‘?
@D%ﬁmﬁdﬁ% DR DOBEOTOND 7
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10.

11.

SECTION-C
Qdgon - @ | |
Answer any Two of the following: | (2x15=39)

WeTs QOR JINeR wUBOAD.

Define auditing. Explain the objectives of auditing.

SEHOTReSad w985 wicwd. SEHOTRTICR A2 T EBNTRY FoTwmoN DTORD.
Explain the professional and general qualities of an efficient auditor.

@ SEHOZRGIY, QCVeTT ,3T0 DB TR, rENEE) D[ORD.

Explain how do you vouch the following ?

. a) Cash purchases b) Salaries c¢) Director's Fees.

31 IINIYneIY, 2en T BIORODT 2

a) INTL Doed b) [e3zd  ¢) ATerTET Qe

How do you verify the following ? _
a) Goodwill b) Land and building c¢) Sundry debtors
85 FENTINTS), Tert TodedRRD.

a) AT b) e R WTE  ¢) TOTTH

SECTION-D
wen - & ,
Case Studies: Compulsory I (1x15=15)
B8O 95,008, FED |
If you are an audltor conducting thé audit work of XYZ Ltd. Dharwad. Durmg
the process of audit if you find some irregularities in the books of account and

financial statements such as, over and under valuation of assets, insufficient provision
for depreciation etc.

For the above situation, being an auditor what type of audit report prepared by
you ? and give the specimen of such audit report. :

R 2, éﬁwaﬁmeaﬁmh XYZ 9083 osoed om0 eﬁﬁwaairaeqﬁ
BOREROBAOD. e%waéraeqm"oja BoBRY, FOFPoD F,DMD FITNYS), @m 3085
SIENYY, Foroeodd. woms @AY aﬁa@ FOLNII), éa&hﬁ B FRD :%:ae&—umhd'
Tone BRTE QS ARTPCL R =t &)

3 Boeds oTPrne) Q) SBTOBREFITIN  0IRI wi’s?dd dﬁwaﬁmeqﬁcﬁa
TS BCINORDNO 2 TR 5T m:saod::m ATITRXD.
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VI Semester B Com. Degree Examlnatlon, September 2020
: ' ‘INCOME TAX - II '
(Compulsory)
(RepeaterfRegular)

o Paper—II
. Time:3Hours - MaximumMarks:80
Instructions to Candidates: . SRV I o &
1. Attempt all Sections accordmg to internal chonce
| e0308 B03ReR BRROBmA 90 2, Sriren 603or0.
2. Give. workmg notes wherever necessary. - '
€538, 53?:5@ &3z Fa')ﬁféﬁa wdocoa
3. Slmple calculators are allowed. |

T @50%6%36 LTSI ON.

: SECTION A

L - m;ari-’e L B 3
1. Answer any Ten of the followmg., - S o (.‘10><2*'~_—*_20)

&’zma} 533 W36N6
a) What is interhead set-off ? ,
. E5030% éfearé Browrdd omdesy 7

'b)  What is the base year of cost’ mﬂatlon mdex ? And glve a formula for -
'calculatlon of indexed cost of acquisition ? :

208 R, 08 SR Bwe e R 2 a‘)t)e&) dzéd mzaaoﬁ 263 ciﬁ .
. s nuae’ 2ec0, |
ey - State the rules for set oﬂ’ of short term capltal losses.
S0 WBTYE TR, BRI zaoi:abﬁf#ab @Bewo.
d) What are casual incomes ?
o c:se’f&s STODRTIRY 7 : :
e) State the rate of tax in case of winnings from lottones and glve formula for
 grossing up. .
.  ooud’ $mabE Jort 8 Bewd 0 Rsy¢ escsaodo ummanod R0, 8080,
- f)  What is book profit of a firm ? -
| TOLOTROS NoZedd YE oPRIBOTIR 9 -

[P.T.O.
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e

How do you treat the mterest recelved by an md1v1dual as a partncr of a ﬁrm
| TRLOTROE FeFod RGO, N TrEodos . WBODI £eﬁ waﬁséhoé)a ?
Who is called as an mdmdual ?
odaadm dz% Q0T F30[D 7 :
‘What 1s the amount of deduction for sectlon 80DD purpose ?
" esmoodd éaﬁ 3o 80DD Elrlevel) sasmwmm aﬁm@ﬁew 2’
'How do. you treat the share of incore reoelved by an mdmdual as member
HUF ? |
 cos BEOONT JSHIN TENE SEAGHER) aseﬁ wam«émo 9
k)  What.is long term cap1ta1 ‘gain ? .
T QSRR WoRwod woddomdemy 2 -
Who are ecligible for deduction w/s. 80C ?
- Beo 80C e@ohY, 3834 Cindd eBED 2
SECTION -B
, _ :.)zpaﬁ—u'_ e
- Answer any Three of the follﬂwmg SR R (3x5—15

AP aﬁmds ZDAD. -

M. Gajanan made the followmg donatmns in the | prev10us year ended 31 3.2019 Hl

adjusted gross total income was ¥ 4,00,000.

a)
b)

9
d)
o)
-

The National Illness Assistance Fund ¥ 24,000 :
Fund set up by state government for medlcal rchef to poor T 40, 000

Zilla Saksharata Samiti. ¥ 32,000

The Chief Minister's Relief Fund ¥ 16 GOO
Mumclpal corporation approved for Famﬂy plannmg 4 48 000.

"The fund for technology development ¥ 12, 000 ..

Compute the amount. of deductlon allowabie under sectmn SOG fqr the assessmen

-year 2019—2020 _
31.3.2019 g mﬁaojariraeéow ewaoda mrcs@ @e m 5300, B FUNR desﬁﬁmﬂa

&)e@md tﬁwd B0c50ess mmcs zuéso =0l T 400000 'adnsd

)
iy
o)
i)
€)
f) -

oaamcﬁa &aeﬁﬁ d Nmo:b 0 ? 24 OOO
Daas pstoi.nie] ‘?e?u?od WEBOR Derds ﬁdﬁecﬁo wbaa?d 30?;;‘) T 40 000

B, msd@ :séboé 3 32 000 .
' Boosd, mo@ofp TGS 20 T 16,000
L Boewow odrensn BREE @EE GoNed T 48,000,

08,293 zﬁ@dsﬁﬁ e ? 12 {)00

' ﬁc‘asdm a = 2019 2020 % 300 80 22 w@d zoéa:: ﬁ@éﬁ@a’n 63'6 ao?x%b
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3‘ .

From the following mformatlon, compute capltal gam of Mr Mahesh for the
assessment year 2019—2020 e o ‘

Particulars . o Jewelle'rg

_ Year of purchase o 1995-96 .

. Year of sale oL 2018-2019 :
Cost of purchase . . - S 1,00,000

- Cost of improvement in 2009-10 20,000
Fair market ‘value as on 1-4-2001 , ' 1,50,000

" Sale proceeds- 1- 122018 S 11,27,000
'Sellmg expenses ‘ | 10,000

Mr. Mahesh has pu.rchased a resldentml house costing T 5,58,500 thhm the spemﬁed

- period.: The cost inflation index for the years 2001-2002, 2009-2010 and 2018- 19

- were 100, 148 and 280 respectively. He was not owmng any other residential house

" on the date of sale

3¢ T3 a[d B 3R Deass a’uaaoéa'boa" scmacsm ;wr 2019 2020 s aoocsme;w ;
mwwm g Ho30. '

e e
oo dmE 199596
@poows &R 2018:2019
DoC0H Y @) 100000
RGO B3, 2009-10 8Y, . - 20,000
o. 1-4-20013 oixaen’ Swaoed, B8 1,50,000
61122018 3 mdmow momm S 11,27,000
dnowss s> 110,000

y e BB RO &aﬁ@odao SRR abéodom T 5,58,500 1 aaaemmd €53 aﬁ:dcﬁsa §

- AR50, 08 ﬁ?ﬁ@ =R 2001- 2002, 2009-2010. d.)éa 2018-19 3" eﬁabtfmmh 100, 148

a3y 280 wohEEs. a:imcmé.sd DTICBTORY ﬁaﬁe@im od.raaﬁcfe mﬁu“now ﬁ:ﬁod}(?b

 BRODUOROY,

Mr. Kumar furnishes the following details for the previous year ended 31 03-2019 :
a)  Interest on securities issued by Govt of India ¥ 20 000 o :
b) Wmmngs from lottories (Net) T 14 ,000
c) Inter&st on debentures of XYZ. Ltd ¥ 3600

.d) Dividend. from Indian Company ¥ 2,000
-e)  Income ﬁ'om non—agnculmral land T 6,000
Compute his income’ ﬁ'om ‘other sources for the assessment year 2019- 2020

[R"r.o.'




b)

c)

d)

g

5.

3

| '3_66221F220 @ eummeEARRR

31 sner 2019 sl SHE m;sme;oa@cse é»e%oahadasj 31 S9N SPbBaDT,
. mmaaﬁ _ . ‘ - _ N
a_) .6eod dﬁadci ?Jda'o ﬁ@é aﬁae@ﬁ w&a < 20, 000

‘mwbomocs stectng eﬁmcda (amﬁ) ? 14,000

XYZ ﬁoc,u?bcdo_ @ajozﬁd AL} Z 3600
Lo08ead eomom e oo T 2,000
%&o&oeéd z;:aémoa)oz:’: 2003 ‘% T 6 000

 govsos S 2019-2020 O GO =30 Bwenoos wod SO, Y, THO.

Mr Laxman submlts the followmg information pertauung to the prevmus year 2019-2020:

. _
“b) .
©)

. o
o

Compute his gross total income for the assessment year 2019 2020

Income from salary N o ? 5, 00000'*
Loss from SOP R S 000
" Business loss o - o _‘ .' X 2?00,000
;Income from mterest from bank B ? 1{)0 ,000.
Wmnmgs from lottones (gross) - T 50, 000'

_emod: R 2018 2019 # ,oowoz;)NcSoa’ € @ﬁ R fadcb ée %@nﬁ maoéo'bm

. peRmRd. |
sedd s o oz 5,00,000_. ‘
B) AR aah 0 KRR " 275000
©) R TBTT TR o | L ?2,00,000'
Py w08 wE, BTaD '?.10'_0‘0'0.0.'
€) -em,ab ST (aum) _. _ 4 50, 000'—."."

ﬁmﬁcﬁﬁa’ S=e 2019- 2020 % é%:éﬁ W), E:ﬁmodbwab & ESJ?&E)

What is capltal gam ? What are the transacuons Wthh are not c0n31dered as tr:;ms’t‘er<

] uodm@cﬂ mzja%ocidcab 7 o3 55 w@dﬁeéo dmﬁﬁﬁ aocfo waﬁséﬁemmd@m
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; .~ SECTIONC
S : SRR &)mﬁ - g . o
Answer any “Two of the followmg. - IR (2X15=’30) .

33 .39nT B adza'i! eUZOR.
- 7. A, B and C are the partners in a firm sharmg proﬁts and Iosses in the ratio of 2:2:1
' ~ The profit and loss dccount of the firm for the year ending 31-03-2019 is as follows:

.| To General Exps. 304 000- By Gross profit . - | 800,000
| To Interest on capltalsatl4% B A
A _28,(!0_!1_
B, .. . |-1e800}
o nwof
| To Salary to 'B' '12,40,000. | -+ -
To Cqmrﬁission to'C- - 11,20,000 |
To Rent to'C' . - | 48,000.{
,To Net“Proﬁt | | 32,000 4
. 18,00,000 ] 800000

B and C are the working partners. Compute the total income of the ﬁrm and the
- taxable .income of the three partners in the firm. :
S AB a:o:é:: C 2080 XOZCHE, "?QDTDG@C&J 2:2:1 ox0TREY, oy TR maaﬂam
- Bostetims. 31-03- 2‘%19 § BwEeHTNE SErE em; TR 3 1 FINS0IR.

WRRT, VD 3,04,000 |eed wogf [ 800,000
z.)océm%fcj a‘be@s W, ' R ‘ |
_(14%6&:9)
o 28,000
-y 16,800
| A w0 11,200
| o Sy Tt 2,40,000
Clersems 120 000 |
” R~ - S it 000
N I | 32,000 | R
S T T 8,00,000 e 800000_-
w Tane A mmds mmmdmﬁm@ "'aenmd NONCﬁD m.zo mam =02

- ®Z03 a”oﬁﬁ a.c'aﬁ:as umcmsab soz:sa ?x@o:oa

[P.T.O.
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From thc following particulars ﬁ1m1shed by Mr‘»fljayalﬂunar compute his total income

Za)
b
o)

)

.: . | e)- )
)

 for the assessment year 2019 2020
-‘Salary (gross)
‘Dlrectors 31tt1ng fees :
: Wmmngs from lottorles
_ Winnings from card games

Loss ﬁ'om house property

‘Factory bu1ldmg wnth machmery let out:

‘Rent Recc:vcd
Repal_rs :
Insurance

| .Intcrest pald on loan

Sale procecds of buﬂdmg purchascd 7'

in April 2007 for ¥ 25,800 -

'Investmcnts and payments durmg the year

Donation to tempie (unapproved)

- Donation to famﬂy plannmg programme to an

approved assoc:1at10ns

Life 1nsurancc premium paid on h1s llfe policy

2 1,00,000

T 5,000
210000
%4000
. T4,000

T 40,000

¥ 5,000

Tawo
%flo,ooo

? 9, 800

- Cost inflation mdex for 2{}07-2008 a.nd 201 8~2019 were 129 and 280 rwpcctlvely
28 "':‘Natmna,l Savings Certlﬁcates (viii) issue
" __Contnbuuon to public prov1dent ﬁmd

5 000
12 000
5,000

2,000
10 000

30090 Fae 20192020 § 3¢ D a:mdm 3 dor :oeacs &);idﬁoﬁoab e-.eabo&ﬁ;
%3S b, eﬁmodmm 65 maae

‘-"'-fa)-

9
"d)'

e_)- .

: e

He33 ( maag)
.Ecﬁergﬁ_ e

RSB, feiey

oAl SuEO, A

mas e:mobaod R :

a)dméoda ﬁsdzﬁ& mé@baimoaﬁ E'aeﬁcd::'

.'*":3:3 waaﬁ

4 i,oo,ooo_ -

%5000
% 10,000
4,000

o TA000

T 40,000
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’ md'!?p | - : ": - | ?5’000
. saﬁ: - L . 34,000
Amcxs B wg o - s I0,00Q |

B 1 o 2007 ce, ) aa;sa -
25800 IR RO e w0t s % 94,800
e Zxow Ama%os 2007-2008 m 2018-2019 oay 129 aay 280 o
_ o amsmaand:sat : o .
b gs mmocmmmwmﬁm
o -mmm@m(m)m .
| WSFEE gasst 2o Ddeay
| demoaty Bt (wydavery
| suoons ot -m:br;mg =R B Xopd D e
e o 2000
y 3oﬂmzas 2ok 003 o> B 10,000
The followmg pamculars of 1ncome by furmshed by Mr.

5,000
12,000
5000

assessment years '

Sagar for the three -

12,000 | -

Loss ﬁ'om speculatlon busmess ) e RS
Pmﬁis from speculatlon busmess - "40,000"”'_' ., 60,000 |
Dmdend from co-op soc1ety 2,000 2,000 '7 | 2,(}00- -
Short term capital loss 4000] 8,000

| Long term capltal Ioss _24',0'0'()' | . ' _f_”
Long term capital gain i 12,000 24,000

Particulars 20172018 | 20182019 | 12019-2020
Income I‘rom salary | ,20 000 | 22,000 | 24,000
| Loss from House: propeny-SOP 4,000 | e S
‘Income from HP-letout 16,000 | 4000 | 12,000 |
Loss from business | | '1'6_.,0'0'0_ [ | Cele
- Income from busmess g - 24,000 e 12,060

lfm“*“*

_ Compute his gross total income. for the above three assessment years.

" [PTO.
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WWIHHWHW
XS *’aﬁdab 8 ss%ﬁ 26013 B Gmﬁd% SRFe esmosama faosé
= - | — 20172018 | 72018-2019 | 2019- 2020
| ez weme> 20,000 22,000 24,000
RFRARDS T8 oD 4,000 | - e
wan S b 16,000 4000 | 12,000 |
| g smecs = b ~. 16,000 -
gomon o c L 24,000 12,000
| TS TR | 12,000 - e
AH JTHOS T e 40,000 60,000
| R Romd oywos © 2,000 2,000 2,000 |
- umasc wom B 4,000 . 8,000
| oo wodee =R 24,000 -
DEFFSO WoBTIT c;az;i ‘_ g 12, 000 24,000

5 SO Spbscby Soresh e SooR0r SR 1A, GTRADT), 30R> HEOWO.

0.

,Partlculars , Mr Ram
| Subscription to’ NSC (vm 1ssuc) 1 20000 10,(]0_0—
| Accrued interest on NSC 1 4000| 2,000
5 years term deposnt in SBI | 5000 3,000
| Life Insurance premlum (on Wlfe's life) - . 3,000 —-
LIP (on father's life) R 7,000
| Subscnpt:lon to Home Loan | .
" | Afc (National Housing Bank) 50,000 | 20,000 |
| Amount paid to unit lmked insurance plan : 8,000 - -
Payment towards deferred annuity plan of LIC - ; 2,500
Subscnptton to units. of spemﬁed mutual fund _ - l 3.‘,500
| Investment in approved shares and debentures 30,000 ,'1"5,0.00'

‘From the followmg partlculars given below, calculate the amount of deductlon
' allowable under_ section 80C in the cases of followmg mdmduals o L

Mr. Sham
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B3 93 aﬁdﬁ# t:iqsadd a:bed wo U OGDQ sasm«::s m G! i#h&i ﬁﬁm

e:sﬁaoexa mab

2330

ooty EUOTOD B (vill Se IR0

0P JINE BoedT W

.00 .30 5 I ©[ ée:s:d o
DRR o (BoRBOD 2eI)

ORP 303 (BoBeH BeR)

Dodyeod T ARNFED 088 T ms
IR Oo8. HaSoae), B KT
338 oxn,s odeewd (LIC)

T3 S RS DOHEO RS

2ns3 T B> TN TUTTIVG, Hoas

. 20,60?0 |
| 4000

3,000 N

50,000

8,000

30000

10,000
2,000

3,000

7,000
20,000
2,500

3,500

15,000

. {PTO.
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SECTION—D |
opn - g

'Casc Study (Compulsory questmn) : ' ,i. ST | o (1><15 15)

ﬁ*ZB‘aOiJ wé’? (x50 o oD):

- Mr. Ananthan purchased a housé in the year 1995 for ? 1 00 ()OO He also made the- |

' followmg addltlons to the house

=) ) Two rocms at a cost of T 20 000 in the year 1998

b) Flrst ﬂoor at a cost of ? 50 OOO in the year 1999

c) Two bathrooms at a cost of ? 25 800 in Apnl 2007

g He sold the above house on 1-7-20 18 for < 10 53,4_00,;;%1119:;3&_‘maﬂﬁc;yame of the
: 'house as on 1-4-2001 was ? 1,80,000. oo . ,

o The cost 'inﬂ-ati;cn index -for the ﬁnanci_al years 2001-02, 2007-08 and 2018-19 werc

;%GO;mpute hxs capltal gam for the assessment year 2019—2020

| Case &_ﬂ_d! , -,

R GE

g between the followmg

| a) He should not opt for the falr market Value

b) He shculd opt for the fair market value.
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b)) 1999 69,3 50,000 Sfne dedede wEs avrAcd. -
<) m_-*,,w_« 2007 99, .25,-30,0 _dwm@' @m mddfémcﬁﬁe;m AFATID.

8 2o awam ﬁoﬁcﬁaﬁa E)anﬁ 172018 dccﬁa i 10 58400 g RBRTA
RRATD. Q008 1-4-2001 docﬁa R:: Ebﬁwa oiraeﬁ ﬁ)éotb m&ﬁéﬁ a‘ﬁao 4

. 1,80,000 =acb3c3 :

e8¢ ﬁzg’ r‘b’dm n,\!am o3 E:?@Fﬁ SBF 2001-02 2007-08 a‘nd) 2018 19 ﬁ 100 .
129 Ry 280 eeﬁaﬁd&mﬁ ‘ad)éd | : -

Sm#dﬁ .;ﬂa‘ur 20'1.9-2020. éﬁ 133 wodmé wmw ci§ RREO. |
Bor LFAR: L
| 26 eda;saﬁ " s;éas@msb iamas im .eﬁ;-nap‘mo:-bﬁ @owzﬁm S8 deddews: |
B 3 3EDH odsaeri mm&a ﬁeso:b;:b &so&: aim@ém%f@dd o

b) éssab oaram mmﬁs aﬂc?odoafo mﬁ: anageomn.
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Reg. No.

~ VI Semester B.Com. Degree Examination, September - 2020
COSTING METHODS & TECHNIQUES - II
- (Regular / Repeater)
Time : 3 Hours - | - o Maximum Marks : 80
Instructions fo Candidates: ' _ '
1) - Attempt questions accbrdiﬁg to internal choice in each Section.
- @, 8030t amﬁd P0B0T SEONOTBTIN DR, @3 non «u3020.
| 2)  Working notes must be given wherever necessary.
UY,0TQ O LTLINER WENRD.
3) Usenon programmable Calculators only.
TR 7,0 cacg 5, 00 e300, sumodenten RO,

SECTION-A

: '&)tpaﬂ - o _
Answer any 10 of the follow'ing. s (10x2=20)

wewr 10§ UBORD.
1. . a)- . What is Process Costing ?
| 308 BRI 0BT 2
b) Wﬁte' 2 features of job'costing. :
S 0B H8RCD TR UMY $9aD.
) What is Escalation Clause 7
| DO D Wwote> 7
d)  What is Work Certified ?
aaaiar@')msa Q0TI 7
e) What is .Running Cost ?
EAle] ﬁ% aodo”eﬁa'?
[PT.O.
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f)  What do you mean by cost per passenger kms ?
DO BARET SeieR0estt IS 20w 2
g) What is. prii_nafy limiting factor of production ? .
ema'%cfécﬁrb T, HA0F DoDOZ, 0 IR ?
'h)  What is Marginal Cost ? o
éoa&ﬁ S, @pcsdesb 92
1) What is Notional Rent 7
aaeﬁ?dﬁﬂmaﬁ- aodd’écﬁ: 7
i) .'What is over absorptlon ? .
Bt evoroy W aodded 7
k) What is contribution ?
:cisgoz! 20n8e 9
1) What is appropriation: of pro'tit ?
ooyl @ a3 aodd’ém ?

SECTION-B
owen - w | |
- Answer any THREE of the following. | o (3x5=15)

s 3 RINROT LUSDRD. :
2. . Explain the reasons for the dis- agreement of profit in. cost and: ﬁnanmal accounting.

. 383 cﬁﬁa:m mri.ra asazs'a,qé d%qu@ whss s = a:k:,% aagsmeamm DTORD,
3. Trom the followmg prepare Cost—Sheet and show cost pg' unit and profit for the

- period: i
(1) Raw materials consu:med 85,000 ..
{2) Direct wages 75,000
(3) Machine Hours worked 2500 Hrs

~ (4) Machine Hour rate Rs.16
(5) Office overhead 15% of works cost.
.(6) Selling ovethead Rs.5 pu.
(7) Units produced 7000
- (8) Units sold 6500 @ Rs.50
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BENT TREcD HTTE e aﬁw e.;éSQ'.bz:b 303RD2. wéodmocb maas zﬁdma:’o
INOTE Wk em;ﬁw?p ﬁozﬁo&oaoaob '
(1) OBoSpems wem, SRyr6 e, 85,000
2) 30 | | 75,000
- (3) ooy AT b3, ORI 2566 riosirisy
@ B odwaésd &3 : dra 16 |
5 R e, o S 15% dab
(6) snows wé copun 5 dramm
(7) O 143, oD 7000 - "
'(3) RRTHTT L4y, ORI 6500 @ d. 50 -

4. From the followmg 1nformat10n calculate ﬂle amount of ln'oﬁt to be transferred to

P&L Ak, . . o .
Contract Price....u......... Rs. 1'0 00 000 . -
- Work Certiﬁed....'......'..;_...Rs 2,50, ooo

- Cash rccelved (75% of Work Cerhﬁed) Rs 1,87,500
'Notlonal Profit................ Rs 1,02,000

| i@m VR SEToV Clanteny oees @?.:o oa:;ﬁab ezae; méo m b fat amma wo&aa& :
- a5dn amrooa:szﬁea: aﬁ:@ﬁm @mmd ma '

L), 1oart B, G5.10,00,000
qjaesca.a sm . 2,50,000 _

. 363 B (75% q,aesmcs swa an. 1,87,500
PO G o . 1,02,000

PTO.
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5. Product 'X' vields by product Y & 7. The joint expenses of manufactqreé-are

Material......ccocoeereecrcvsnanene 20,000
Labour.......oocceeeecnenecnnne. 16,000
Overhead........cooccovnniennne 18,000
. 54.000
Subsequent expenses are as follows: o _ :
| X Y z
Materials 4000 3,200 3,600
Labour . 5000 2,800 3,400
Overheads =~ 5,000 2,000 3,000
o - 14,000 8000  10.000
Estimated profit on sales : - 25% | 15% - 20%
Ratio for apportionment of joint cost 14 6 7

Calculate Total Cost, Profit and Sales of thé abové Products.
B BoIBY, X' BND Y TR 'Z' SMT S0B LUSHRNIR, WRHIE. U
-~ Roodng SR B INT0IT. | S o

B, BOBRDcrrervrcrrrnrne 20,000
LBRO e 16,000
B30 B, enenerrriren 1eern:18,000
td - poiaiit: AnSnihart
| 54,000
| Rogosed I [y, L
| ’ X Y z
R, RoBNRE '_ 4,000 3,200 3,600
300 | 5,000 2,800 3,400
B0 333, ~ 5000 . 2,000 13,000
o | 14,000 8.000 10,000
HRoRT et D0 OO C25% 15%  20%
 Hookog SuESy Fowds somd 14 6 7

03 TRYY LAY DY, TROWE HeY Torte CHETRY FORERRO.
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Rohit Transport- Company rnins the followmg fleet of Buses. You are require to
calculate: _

(i) Total kms. (ii) Total passenger kms.

(1) No of Buses ....... .. 04

(2) Days operated in a month 30 days.

3)- Trlps made by each bus 2

(4) Distance of route 100 km (one side)

(5) Capacity of each bus 40 passengers

(6) Average passengers travelling 75% of capacity.

‘d:aeaoé %) aﬁegpeé.ss' BTN BUAR DIBIN), iao@fooac? B3 maoaab Slanteinline o

(1) zoéao dcdpe Qoetad (i) WD T,0heedE0 e SO TR, BORIBLROWD.
(1) wRRY Z0a3, e 04 |

() $onosY, 3u% SRAT BINY Jos, 30

(3) Todwedan WIone Ros3, 2

(4). Zodneas 088 100 kms

(5) WS aeeons AR 40 wQ‘iDtﬁifﬁJ
(6) wRy oeHo 75% = MRGFS T,oIRSTOR ams 8ROEACIN,3T.
» SECTION-C
‘ , dyert - ¥
Answer any 2 of the following. (2x15=30)
BB 20R0 BIAOR wwIoR0. '

Veena Transport Company operates: 2 buses between Banhatti and Vijayapur The
details for the month of December 2019 is as follows:

| . Distance between 2 Cities 100 kms.

Capacity -of each bus 40 Seats.
Round trip covered daily 2 by each bus.

- Occupancy for onward trip 80%

Cost of each Bus Rs.6,00,000

- Depreciation @ 20% p.a. each.

Salary of two Drivers Rs.4000 p.m. each.

[PTO.
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Salary Df two Conductors Rs.3500 p-m. each,
For return trlp seat unoccupled 30% |
Repa:rs 75% of the depreciation of each bus."
Tyres & Tubes Rs.20: per 100 kms.
Diesel etc’ ‘Rs.30 per 30 kms.
Commission 20% of the total cost.
Road Tax Rs.5000 p.m. each bus.
Insurance Rs.2000 p.m. each bus. N _
’ Prepare Operatmg Cost-Sheet and ﬁnd cost per passenger kms

DeTFD ma‘e,gpeaar BosR0d0 uﬁ&’&&oﬁ:oﬁ azawa@dd =37 2 WRONFRY, L@mém
@fqowd 2019 © ée ENT maoacmm ucﬂfw:s

a0 Sty BT @086 100 v,
AeLOTY TG E s 40 eRane

Be0s Roworss oy B3 w2 DI
BREENG TR, o s%
B3 wAS BT ©de. 600000
e WS | BT @‘amﬁzo%pa

'rfazad: zawsa'zﬁess =8, os.mwaﬁ de. 4000 [3 Soned.
AD. aemmﬁ aﬂesas G 308pt0r do. 3500 T3 Joried
£ WY wdoaaﬁ 220 BerdHs R0, 30% '
ooy T3 wAR ATEYCD 5% O
_ @ N _ & .
o7 Borie WRONY DRFTH 8 100 s.ove do. 20
B30° 3 B8 30 s.20e.1 30 TeD.
3RO LAy, Jods 20% oy
Sned 3ort ©3 wark de. 5000
S50 Z3 wAR B8 Sortshd dp. 2000 |
0T Hodah ey, B, IR0 BB Foleries o> Ty, ForEBD.
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Finished Product of STC Manufactunng company passes through 3 processes viz X,
Y & Z. The output of each process is transferred to the next process and the finished.

output of process 'Z' is transferred to finished stock A/c. There was no work in

progress in any process.

* Prepare Proccss Accounts and ﬁnd out the value of abnormal loss and abnonnal gam
{

from the followmg mfonnatlon

" Materials used (Rs) 120000 70000 40,000
" Direct Laboqr Cost (Rs) - 80,000 = 60,000 50,000
 Production Exp (Rs) 40,000 39,100 24,180
Output in units o 38000 34,600 32,000
Normal loss O s% % 1o%

Value ofSorap-(Rs pu) 45 50'0‘ IR 800 '

Process "X’ was fed with 40, 000 units of Raw matena[s mput at a cost of Rs 3,20 000.'
83,8, ﬁoa"éao:b %)CS VS a“macb ema'adam 503?1%&3 X Y 5333 Z mﬁﬁmema‘d.-

_ 2,000 Bo3T AT wno B000s oS wmromwéd Aol 330353 dd&f«-@ nﬂjd“" ne

as3nt z:sa"ood:arbéd omq)ci‘e iferc) eerawr SRON fam@ao

4¢3, T ao;sme améo'ba: @3ﬁcb ea*ams I, mm e;azmai:as SO, soca)&o@omo

) X Y -z
mm wed (3n.) 1,20000 70,000 40,000
3 800 S (A0) 80,000 60,000 50,000
DT T, (B0, 40,000 39100 24,180
S Fose A IS 38000 - 34,600 32,000
wRRY, 37, 5% % 10%
o ds 45 500 - 800 -

6:1@1303 R lex 'X' [~ 15 dm 3 20 000 a‘n‘avd 4() 000 051)?0&3‘?‘?#3{) QETBEDINES.

[PTO.




36623/F230/23623 ® RS

- 9. Kadasiddeshwar Builderé Ltd have taken a Contract in 2019. The value of the contract -
is Rs.6,25,000. They began the work on 1% January 2019. The followmg are the
details, for the year ‘ending 31 Dec. 2019:

Rs. .

Materials purchased \ . 2,50,000 ¢
Wages paid . - 70,000
Direct expenditure paid ' 12,500
Sub contract cost ‘ | | 6,250-
Plant purchased - ~+2,00,000
Materials returned to Stores ' _ ¢ 25,000
Material lost by fire & sold (Costing Rs.12,500) 10,000
Plant sold on 1-7-2019 (Costing Rs.25,000) . - | 27,500

~ Material at Site on 31-12-2019 | 37,500

 Work certified 500,000

Cost of Work Uncertified | 50,000
Rate . of depreciation ' - | 10% p.a.

. Retention money - - 10%
Wages accrued - ' o 5,0{)0'

- Prepare Contract A/c.

8¢ 508 Rxdwd ﬁad E()ai)ari‘a r\)OﬂJ 2019 3§ de. 6,25,000 i modm iﬁéﬁmo@ti
23T o aaaﬁombcﬁam 20190 uéewb WRTDOICDH aﬁdod) agdo&pkmp 8 39N
‘ ‘a:ba&oéo:m 31 - a~oud 2019 3 RowoRAT.

m’gﬁe; Do j | - 2,50,000
800 T 70,000
Sed o5, S 12,500
T 2T Y, L o 6,250
| ohodn, edTng 00 | 2,00,000
TR WOB ROBND o 25,000

- YJodood mzs ﬁA‘bﬁ@ mwaéa (3¢ .12,500) : 10,000.
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abo3, wnoews 1-7-2019 (56 25,000)
DREBSBOTT 03 FoBonsd 31-12-2019
HPOORLLS, SoRT &g

S5o0ROBE ORT g,
A3P00H T s [RE

 QUPRBROT TED

o <az:$ _ﬁm@

o mhen .mscmab B03R0R0.

B. Nagaraj and Company Ltd. shown the profit of Rs.45 (}00 as per ﬁnancnal books..
Where as the Cost Book showed the different profit. The reasons for the variations

10.

are

- Factory over head

Interest on loan charged
Goodwill written off |
Administrative overhead over recovered

Manufacturing overhead paid

Selling expenses paid

Selling overhead recovered in cost

Value of Opening 'Stock_ in' cost books

- Closing stock valuation in finance book -

Commission received

Stores adjustment debited

" Value of Opening Stock in financial book

Closing stock valued in cost books
Income Tax p-aid'
Provision for doubtful debts

Prepare Reconciliation Statement.

Rs.9,000
Rs.3,000
Rs.2,000

Rs.3,000

Rs.7,000
Rs.6,000
Rs.9,000
Rs.15,000

Rs.6,000

Rs.18,000

Rs.12,000
" Rs.13,000

Rs.8,000
'Rs.5,000
Rs.2,000

36623/F230/23623

27,500
37,500

5,00,000
50,000
. 10%

10%

- 5,000

[P.T.O.
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. SnceE - dad %o zamb Beowoas RIS em:f gdr. 45,000 2. ado‘ozé 30 3,
@Nid wz;s aieﬁai:aﬁtﬁ eaci@ B NS aﬂ;@dmﬁo @dmﬁ%ﬁﬁ :

—ww daeeizs 3r. 9,000
e e ua . 3,000
| R 3 KT S, gR. 2,000
- Bk, SEORRT, BT 333,  de. 3,000
- dRmEseRd NI T, - Gw. 7,000
BRoows 5?3 - Be. 6,000
- ﬁzs DRI, 30300 =33, ge. 9,000

B, BRIOON woonE 203 P, .+ de. 15000
v BOTAS & *6@@&5@0«9& aoa aﬁa@s:. .. BR. 6,000 - -

YRRt mdams s ¢ . - O, 18000
TR Eomeitod stabr . ' op. 12,000
BT HYIS 0oYT BT IPe de. 13,000

3, 38 IPT oz doy e, 8,000
smah 90 &y, SRR &, 5,000

RoBaINRT MWOB R Lot - aR. 2,000
RebRod WY, JagwORO T
' T L ¥ SECI'ION—D
Case Study (Compulsory) ' L T (1x15=15).
B30 ST,0h (ST wz?) T e
11. Following details relates to' the manufacture of two prodncts 'A‘ & B

- Particulars R Product 'A' ‘Product B’
7 (Per unit) - (Per unit)
Sales price e 100 150
" Raw Materials 20 — 40
Direct wagés SR 25 N 30 -
Variable overheads - - 15 .20

The fixed cost Rs.1,00,000 -
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The product mix combmatlons are:

(11)  36623/F230/23623 .

(i) A’ 5000 units and 'B' 3000 units.

(i) 'A’ 4000 units and 'B' 4000 units.

(iii) 'A’ 2000 units and 'B' 6000 units.

(a) Find the net profit from the best produc':t mix.

(b) State which of the above Sales MIX recommended by you in terms of contribution

& profit.
A a:r-.o B' 'emam’éﬁ@ﬁ Nowocprocioa" E-73 %ﬁ‘éﬁs SRS DeBLINGS.
- Qmos 'A" S : 'T-Br‘
| (@ o@isaaﬁ") (32 odoaur)

SRoT 23S w0 150
i, RoRIED. 20 L 40
S WS s 30
wTioRrR St s 20
40 3, do. 1,00,000 -
oot a;@sacs Boodpemsnsd

() A 5000 choRernisd 'B' 3000 odoasqwnéso
(i) A’ 4000 c0REFTIEd B 4000 GIOREFTY
(iii) 'A’ 2000 c3PREFTE B’ 6000 OV

(a) = aﬁae@& 5305 wd@j mwwm ﬁotsa&:@obof).

®) oo 3 ERmcH SHOT oess adnm 23, saam 50% S0,
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' Reg' No.

VI Semester B.Com. 3 Degree Examination September 2020

ECONOMICS
In_dlan Economics

(Regular)

Time : 3 Hours

Instructmns to Candtdates

Meximum Mer,ks_': 80

- 1).-- All sub questlons should be answered contmuously at-one place
contlnuously quote facts and figures to support your answer.

DY VTR, éﬁ@ﬁ 2o 33 Cpcte 228D Q-BESES f €508 cﬁcsﬁ@éaae&ﬁ ED:’%

VITRER), +meme

- 2) 'All sectlons should be answered in the sa.me answer book. _

4 W) e.rugdnt’.ﬁs% 20c3e eUET wgécdag 208¢500.
3) - Draw diagrams wherever necessary. -
o3, 55 E Seamess, g, S0w0.

SECTION-A
g - eﬁ

~ Answer any Ten of the followmg in 2-3 sentences each.
. IEATRNGD, 23e5s aegg 2-3 mﬁsﬁe’@“ eVZORD.

‘Mention two features of-developed economy.

SRR OBR0OT BRFRFFD AR CIHNIRY SR
Give the meaning of a dcvelopmg economy

e;szpa aeeo e:aqﬁ;-'wﬁ oda @qﬂr oeee

Deﬁne Natmnal Income

mwgeoda HORBPTST), 9,09,

‘How do you find out per-capita income ?

3en SORRISRY, Ber ForRBEIDD ? |
State any two causes for slow growth of National Income.

| -(10x2=29)

‘aneccb TR0 abodﬁacdo aﬁe.#méﬁﬁ ao’zﬁa eedsamfa‘n e%

[P.TO.
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36624720 . @
)  What i is sex-ratio ?
- @omabws 0T 2
g) State any two factors 1nﬂuencmg on densrty of population.
' uﬁmow 3033 o0 BOFRRD eI DTE BOINTTY, SPA.
~h) . State any two defects of lnd1an economic planning.
0BT SEFT odpensodd @dcéa-.dfammis% 93,
i)  What is the period of the Tenth Five Year Plan ?
- FEsecd Sowmmars cleeed B0 om, ?
i} Who is the present Governor of RBI ? -
0% 0.600°.8 BB YT R 7
k)  Define Monectary Policy.
BEOERE DESODRY 9,200, D,
1) - What is a budget 7 _
- @wonEng, «omded 2
o SECTION-B
| ) o - w
Answer any Three of the following.
NS Yeead Rt BFRUR Gv300.
2. Explain the methods of measuring National Income.
oaeah TR PehoR RERRRYED 0RO,
3. State the features of under-developed economy.
| oO-eun ) oBrREEoh ognnvRy 2080,
4, Write a note on popuiatlon po’hcy of Indla
z;mda‘cs uaf*oa:»a 080T BDHR DS LSOO,
Explain the achievements of economic planning in Incha
WTBTIE). SOFY Qimezszﬁqil mqﬁémfa’xg{ ei‘)aSC)fq&.
- Explain the causes of unemployment in India. -

R0SRE, ADER, e TOorYRD, DZORD.

T .

(3x5=15)
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SECTION-C
R ~-. F . L o
‘Ahsw_er any- two of the following. _ L o (2x15=30)

| $9NS Bemn 0@ BINeR e300

Explain about population explosién in India.
P0EEY, wIR0a), Aedts B0 DJOKO.

- Explain the objectives of monetary policy.
BT 0S80 QOTEBNRTIY DIORD.,

Explain the functions of RBL

6305 90.3007. 3 imo'brm*m QBRD.

o 10.

11.

- Explain the sources of Central Govemment Revenue
geod, Heor 3 Clapleriay m:wn’eém% &)aSofoo_

SECTION-D
atpen - 3

Case let. B P - (_1x_15;15)

.-\13 ZDC? WD _

lndlan econormy exhlblts features hke poverty unemployment and under employment.
But its national and per capita income are increasing. There is growth in service
sector. [nfrastructure has registered phenomenal progress. The occupatlonal dlstrlbutlon :

‘has undergone a change. Indza is facing energy crisis.

ADIeTT A ﬁﬁcﬁrw afn;crba VRIS, oERen WY Esti’e.mdb enaas), ag,dé?l‘béd &de’ '

- gRTes Todyecdd esmocb =03 Clop eme TS, Nemsuod)dé IR BRoDT.
RO *’aeodarﬁ@é &, N3cdo eﬁci:emﬁ m@)mﬁd S2atol e woasi‘om wdmawﬁ
| wYRNG. 0SB WHNRY SRS,
" Questions:/a, 3?1%:30 _
(@ Is India a developing economy 7 | - o (2)

20Ty e_ez:m aew anaSe 9

(b) Point out the change in occupatlonal dlStI'lbuthl’l S . | 3

. mcﬁra en BOWEH T wcﬂmamcﬁom ZRc0A. : . _
{c) Menhon the patches of under development though Indla is a developmg economy.
| : | R )
o033 wzp%&gpew TOFEOTTR ﬁ:ats 3 wep%@@ob‘éeﬂmsgl‘ smoz.;.. '
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Rﬂg; No.

VI Semester B.Com. 2/B.Com. 3 Degree EXémination, September -2020
Computer Application in Business-V

(Regular/Repeater)

Time : 3 Hours : Maximum Marks : 86
Instructions to Candidates:

1) All Sections are Compulsory subject to internal Choice

2) Section D is Compulsory

SECTION-A
Answer any Ten questions. Each carries two marks. (10%x2=20)
1. Define Mafching Concept.
2. Write the use of Trial Balance.
3. Define Budget.
4. Whatis Ledger? List the pre-defined ledgers in Tally.
5. Whatisuseof Rejéction Out Voucher in Tally?
6.  Write the steps to enable Mﬁlti Currency in Tally.
7. Write the shortcut key to move from main window to calculator and Vice Versa in Tally.
8. What youmean by Cost Category?
9. What you mean by Compound Unit? Give example.
10. Expand GIF and PDF.
11. What is meant by Output devices? Name any 2 output devices.
12. Write the use of OCR.

P.T.O.
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13,
14.
15.
16.

17.

18.
19.
20.

21.

SECTION-B

Answer any Three Questions. Each carries 5 marks: | (3x5=15)

What is CAIS? List its advantages.
DiScuss the features of Tally ERP 9.0.
Write the steps to create company in Tally.
What is P/L Report? Write the steps to display P/L Report in Tally.
Write the applications of Multimedia.
SE.CTION-.C. ) e
Answer any Two ofthe folloWing questions. Each carries 15 Marks: (2%15=30)
Explain the different types of Reports generated by Tally.
Define Voucher. List and explain different. types of Voucilers used in Tally.
Explain the components of Multimedia.
Write short note on: -
a) | Account Receivable System
b).  Units of Measure in Tally

c) Storage Devices.
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SECTION-D

Case Study (Compulsory) : (1x15=15)

22. Journalise the below transaction in tabular form to identify groups, ledger and voucher:

1.

10.

Arun commenced business with Cash Rs.2,50,000.
Deﬁosiied Rs.25000 in Syndicate Bank Account.
Purchased goods from Lotus Ltd. for Rs.5000

Paid Ofﬁ.ce rent Rs.13000.

Sold goods for Rs.8000.

Sold goods to Rajesh for Rs.12,500.

Paid Rs.4,000 to Lotus Ltd. through cheque.
Received Cash Rs.12,500 from Rajesh through RTGS.
Withdrawn Cash for personal.use Rs.1800.

Paid wages Rs.1,500.
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Reg No.

VI Semester B. Com 2/B, Com.3 Degree Exammatmn, September 2020

INDIAN FINANCIAL SERVICES
: Paper : III (Electlve_) |
_ - (Regular/Repeaters) | o
Time : 3 Hours o _ . Maximum Marks : 8{)'
Instructmns to Candidates: | _ | ‘ |
' 1) -Answerall the sections with given internal chmces
- 850303 503%1‘1@?1 mﬁm&% D, DTNy, LVZOXD.
2)  Use of non-programmable calculator is allowed.
_ Do -, T, 0L 9, e etsTt erwodraeﬁ»u&bm
3) -Questlon No 11 (case study) is compulsory '
' BB B0, 11 ia‘%oi': (=,3080 e;azjéod:a

SECI‘ION-A
. _ atpaﬂ - B _
1. ~ Answer any TEN of ﬂne fblloWing questions: _ T (10%2=20)
| nSReg, dems wgd evgoro. o |
a) What is finan01al services 7 _
59‘&)5&-\!3 BeSridd HoTBeH ?
b) Write any two types of fee based ﬁnanctal services.
2o, B0 Deovoad Sedne mm T,TIONT, 28000,
c) Deﬁnc ‘merchant bankmg '
[IFY 23,088 msajs udea)a.
d) What is factoring 7
- egpor’ Q0TTED 7.
e) What is venture capital ?
OB WOBY 0TV ?
f) - Define lease. |
| - riesdodd 39,25, ud’o.'bo_. o
[P.T.O.
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o
h)

i)

i

'k)

N

What is forfeiting ?
TOTTHON® 0TdeRd 2

What is bill discounting 7

.wo@ nuae@ﬁdra aozﬁéec’:’n ‘7

Name any two prlvate sector merchant banks operatmg in Ind:a

23R ﬁeéw crmaé)mcsdra 20T ars‘Fﬁ 3 oﬁmfm éfotma

. What is cre(ht ratmg ?
. eu§§ Beed DOBBER ?

'State any two objectives -of demateriaiisaﬁori.

mp’aéeidsad DT emdesmfzo EPD.

What is demat account ?

QR Es 303 OB 7
| SECTION-B
YRR - w

Answer any THREE of the followmg questlon& L (3x5=15) _l

&#ﬁﬁ@ﬁ%ﬁ@ ﬁea‘acﬁ mw eUZ0RD.

Briefly explain the features of financial services. - =

| Browoag Aesine P EarT), ﬁo&a&mn- 20RO,

sttmgulsh between ﬁnanmal lease and operatmg lease.

| aeazs'ano ﬁesé mrira FOOROF BT ﬁesém# RS adaa rivé:o ebaibm

'Explam the conditions- requlred for reglstratlon of merchant banks.

BB o) ozong ﬁraozjeéﬁ aﬁeﬁ)d SRR ejoaiﬁ@ém e‘Dd@R@

‘Briefly explain the process of rematenahsatlon.

| S0Pt B8 clodiy, AosEEN D[R,
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From the followmg mformatlon calcuiate cost of factormg without recourse.

B3 FPNS & Na'ao:b@od ST weeon‘ amﬁaﬁﬁa @mx)’m _;—aﬁaon*‘

: ‘mwm BORIBLACD.,

a) . Annual sales - Rs. 40,00, 000 of whlch 80% is on credlt
m&arﬁ Ino0e dr. 40,00, 000 ‘acfdé’) 80% emd@ Zmo::w

b) 'Average collectlon per;od 30 days

pitorste) emcia B[RO <=0 30 OIND.

c) - Factoring fee of 2% plus a commlssmn 4% on tetal amount of debt plus 1%
o Delcredere commission. o . :
T,IO0N B 2% Wone ea:mesf 4% aﬂq:«&g]% Berg,eros %&b’eai@‘ ala% wgo

maa oed. | | |

- d) A factor is w1lhng to advance 90% of credlt sales

P9, T O ?.ué,.’o erucﬁ@ TRoTRE 90% I0oRE EewEn.

e) Management costs saved due to factormg is Rs 24 ,000 p-a. and a bad debts at -
2% on credit salés. : :

500?1‘?0033 mwrﬁ ar. 24,000 dem NI DD ﬁza’d@ HUETOCDITTONITITIO m@b
ﬁ&-m& 2% m@aoﬁmmwm '

SECT ION—C
‘ azpart - 9 R y , ‘
Answer any TWO of the followmg questlons ' - | , .(2>_<15=_30)

o 3”%&?@&;@ e adat@ eméaaa

10..

Define ﬁnanc1al serv1ces Explam in brief the dlfferent types of financial services.

BOTAS Nene m aﬁ hlolovelel aSEasaaﬁ Sesirie &t’ad =, eadrt@é?ao Noéwmﬁ LESORO.
What is merchant banking ? Explam the objectives and functions of merchant bankmg. N

DI moﬁonf aoddem ? ©uo emdeeﬁmb =030 andarﬁe;ab awaae
What is factoring ? Explam the advantages and disadvantages of factoring.
FTOOM 0TS DD 7 B @mmw‘e’mﬁo 53:«53 wmmﬁ.@@éﬁvm &)den:a
Define dematerlahsatlon Explain the process of dematenallsatlon
e_azp’aaesdsad maﬁ 20500, eaﬁaéeﬁdsacﬂ a_.a)godzoi:ab DTBORD.

|P.T._o'.
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- SECTION-D

azpari - & _ :
; Case study (Cumpulsory questlon) o , ~ (1x15=15)

3,300 eﬁcs oI (ﬁmodo w‘é’)

11. Bharat Metals Ltd. is in the busméss of manufacturmg machlnes It wants to give
machine on lease ‘basis to Ambika Sugars Ltd. Find out proﬁtablhty under leasing.

{a) The cost of the machine is Rs.20,00,000 having a useful life of 4 years.
(b) The machine is given on a 4 year lease year end lease rentals bemg Rs.8,00 000_
. pa. _
(¢) -Tax rate applicable is 35%
(d)  Salvage value is Rs.4,00,000
- (e) Depreciation and the p.v. factors are as follows:

- Year - Depreciation PV, factor
1 | '8,00,000 . 0.877
2 480000 - 0.769
3 | 2,88,000 0675
4 - 172,000 0592

Advise the company whether leasing is proﬁtable i

og e’ HOA0E 0PN ITTIDY, ératéhci B @O?.Sﬁ“a ebric‘ Falovetav
Q@O 00T, ﬁab ﬁei‘éodo 230ees é@tﬁ@o wodRd..

(a) ©DoZT FFY, de. 20,00,000, 4 SR 203 fﬂwf;)

(b) Resdod o= 4 IRERD- m@g Aeesodd @3 on. 8,00,000 FRFT.
(c) 3ort B0 Jesm 35 TNEY, |
(d) 4 WY 3080 woed SPe), Tw. 400 000

() Aee W%y AT APy 8 BENTodH.

SR O ASse (Ie)  RGE SPynd
1 o 8,00,000 0.877-
2 ' 4,80,000 . 0.769
3 2,88,000 0.675
4 . L72000 0592

33 BPed0d AzmoobhoT ﬁeséoda mzjm&ﬁﬁ‘ése&) 60653&0@&?06 2=t ﬁeeécdw
OYITOBTONTOE DOTD SOTHD, SRE0.




